00000 NoN7552 |:W343EJ[IEJ goobgoopcBOOO0O0OO02a000000

SA WY O | =##8lf=21—X o=

___NOOOoobopOODOMOSODOODODOOODOODOOO
FW343 Jodduooon

ob obooooon

a gooooooobonb

a g4viobooNDODODOOPOOOOMOSOODODODOODOOOO1IO0DOOOO0D 20000000
goooooooo

d gbooooopogooo

000000 Absolute Maximum Ratings / Ta=250 N-channel  P-channel unit
0O00DooOooooo VDSS 30 O 30 \Y,
ooooooooo VGSS + 20 + 20 \Y,
ooooooobceo ID 5 04 A
Oo0ooooopPwO 10s0 ID duty cycle O 1% 55 0 45 A
obooboooPwD 100msd Ip duty cycle 00 1% 7 0 6.5 A
O0000O00PWO 10usd Ipp  dutycycled 1% 20 0 16 A
oooo PD 0000000 (2000mm?x 0.8mm)0 OO lunit, PWD 10s 1.8 w
ooo PT 0000000 (2000mm?x 0.8mm)0 00 ,PWO 10s 2.2 w
oooood Tch 150 O
ooooogd Tstg 0 5500 150 O

00000 Electrical Characteristics / Ta=250

[N-channel] min typ max  unit
Oo00ooooooooa V(BR)DSS ID=1mA, VGs=0 30 \%

ooooOooooooooo Ipss VDSs=30V, Vgs=0 1 uvA
ooooooooooo IGSS VGs=% 16V, VDS=0 + 10 uA

oooboboo
0boobooows4s

0000?2129
(unit : mm)
&) [0 (ONE} @O g 5
8 7 6 5 1: Sourcel /EI—EI—EI—B\ fa— pd
|_| |_| |_| |_| 2 : Gatel
1 T 3: Source? s -
4 Gate2 ©| 1:Sourcel
. 5: Drain2 2 : Gatel
y
+ }—‘ ¥ }—‘ 6 : Drain2 E E E E } 3: Source2
7 Drainl 1 4 - 02 4:Gate2
] |_| |_J |_| 8 : Drainl 5.0 £ 5: Drain2
— = 6 : Drain2
1 2 3 4 (Top view) YLJ:LJ: \ g 7 : Drainl
— 8 : Drainl
0595 | |1.27| 043 e
SANYO : SOP8

m0000oo0oooooboooooboooooboomobooooobm@mobooooobooboooooboooon
goooooooboboooooooboooboobOmOooboobobOoooOobooobObooOoobobooooDo
gooooooboooboooooboobooboboobo

mjJ000000@OO0OC00OO0O0O000O0)OO00O0O0000D0O0O0DDOODODO0DO0OOOOODOOOO
ogoooooobooooooboooao

#0596 00 0000000000001010

=FERGISH 2OV 05— hVNZ—



http://www.dzsc.com/icstock/121/FW343.html
http://www.jdbpcb.com/J/
http://pdf.dzsc.com/

FW343

gboooooogn
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